[bookmark: _GoBack]
To multiply up to three digits by two digits.
1. a) 34                               b)  58                                c)   72                 d)   82
x  12                                x  21                                    x 34                     x 23

2. a)  5 2 0                                 b)   6 2  1                             c) 3 2 1                  d)  1  2  4
                 X   15                                       x   23                                    x 42                       x  2 6
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Tommy says,

Itis not possible to
make 999 by
multiplying two 2-digit

numbers.

OO,

=

Do you agree?
Explain your answer.
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22 x 1M = 2442

23 x 111=2553

24 x 1M1 = 2664

What do you think the answer to
25 x 111 will be?

What do you notice?

Does this always work?




